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YHUBEPCWTET "AHI'EJT KbHYEB"

3amaua L.PemoHT

[IpTHATa Mpexa B rpag Pyce ce cbhCcTOM OT KPBCTOBMILA M JBYIIOCOYHM yJuLHU. Beska
yjinnga CBHp3Ba TOYHO ABC KPBCTOBHUIIA, W HHUKOM IBC YJIWMIM HE CBHBpP3BAT ABC CAHAKBU
KpbcToBulIa. [Ipeacron na ce M3BbpIIM PEMOHT HAa moBedeTo yiauuu. [Ipm peMoHT Ha naneHa
yauma, TS C€ 3arBaps 3a JABWKEHUE. YJIUIUTE HE C€ PEMOHTHUpAT E€JHOBPEMEHHO, HO
M3HCKBAHETO € TpadbT J]a HE OCTAaHE Pa3JelieH, T.€. OT BCAKO KPbCTOBHUILE Ja UMA Bb3MOKHOCT
Jla c€ JIOCTUTHE /10 BCSKO JIPYTO.

Hanummere mporpamMa, KosiToO HaMUpa TE3U yIUIM, KOUTO HE TPsOBa J1a ce pEMOHTHPAT.

Bxon

Ha mppBus pen e 3anucan 6post Ha TECTOBETE.

3a BCEKHM TECTOB MPHUMEP HA MBPBUA PEJ ca 3aJaJeHu ABe Ienu uuciaa: N — Opod Ha
KpbcToBUIIaTa U M — Opoii Ha ynuuute. Ha cneaamure M pena ca 3amafieHu 1o JABE 4Kcla 3a
BCSIKa yJIMIIAa — HOMEpaTa Ha KPhCTOBUIIATa, KOUTO CBBP3Ba YJIHUIIATA.

H3xon

3a BCEKHM TECTOB NMpUMEp Ha TpsAOBaA /1a ce u3Beae MHGOpMAIUs 32 HAMEPEHUTE YJIHIIHN Ha
OTJIEJICHU pelloBe. 3a BCsKa yJMIa HOMEpPAaTa Ha KPbCTOBMILATA CE€ MU3BEXKJAT B HAPACTBAIll PEJI.
Nudopmanmsara 3a ymumuTe ce W3BEXKIAa B HapacTBall peJa HA HOMEpara Ha ITBPBOTO
KPBCTOBUIIIE, a IIPU CHhBIIAJICHUE HA IBPBOTO B HApacTBal] pell HA BTOPOTO KPBbCTOBHUILIE.

Orpannyenns
1 <N<2000
Howmepara Ha kpbcTOBHILIATa 3a1104BaT OT 1.
IIpumep
Bxox H3xon
4 5
56
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Problem L.Repair

The road network in Ruse consists of crossroads and two-way streets. Each street connects
exactly two crossroads, and no two streets connect two identical crossroads. The local authorities
plan to repair the most of the streets. When repairing a street, it closes for traffic. The streets are
not being repaired at the same time, but the requirement is that the city does not remain divided,
i.e. from every crossroads it should be possible to reach each other.

Write a program that finds these streets, which should not be repaired.

Input

On the first line one integer will be given — the number of test cases.

Each test case starts with a line, containing two integers N, M — the number of crossroads and the
number of streets. Each of the next M lines contains two integers — the numbers of crossroads
which the street connects.

Output

For each test case output on separate lines information about detected streets. The numbers of the
crossroads describing each street should be displayed in ascending order. The information about
streets should be displayed in ascending order of the first crossroad. If the first numbers are equal
— in ascending order of the second crossroad.

Constraints
1 <N <2000
The crossroads are numbered from 1.

Example
Input Output
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